1= SetDirectory[" /wwy/user /fdahl /paper s/Conj ugation/"1;
<< kappaLi b. m
<< Petrov. m

KappaLib v1.1

Petrov routine | oaded

m Class XXI: (321)
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o B- 000001
100000/
010000
001000
lall 1 0 0 0 0
0 lam 1 0 0 O
o vo| © o tam o o o |
0 0 0 lam 1 o |
0o 0 0 0 lam O
0o o0 0 0 0 lanmB

ine:= Ei genval ues [V]

ourel= {l amt, laml, |aml, |an2, |anR, | anB}

0 0 epsl O 0 0
0 epsl1 O 0 0 0
epsl O 0 0 0 0
- W= .
il o 0 0 0 eps2 0 |
0 0 0 eps2 O 0
0 0 0 0 0 eps3

m Possible choices for eps_i:

ing:= Ei genval ues [W

ougl= {-epsl, epsl, epsl, -eps2, eps2, eps3}

nEl= S[i_1:= (-1)"i

mpoj= For[il =0, il<1, il++,

For[i2=0, i2<1, i2++,
For[i3=0, i3<1, i3++
Print [ToString[{s[il], s[i2], s[i31}11;
Print [Sort [Ei genval ues[W /. {epsl »s[il], eps2 »s[i2], eps3 »>s[i3]1}]11;
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{1, 1, 13

{-1, -1, 1, 1, 1, 1}
{1, 1, -1}

(-1, -1, -1, 1, 1, 1}
{1, -1, 1}

{-1, -1, 1, 1, 1, 1}
{1, -1, -1%

{-1, -1, -1, 1, 1, 1}
(-1, 1, 13

(-1, -1, -1, 1, 1, 1}
{-1, 1, -1}

(-1, -1, -1, -1, 1, 1}
(-1, -1, 1%

{-1, -1, -1, 1, 1, 1}
{-1, -1, -1}

(-1, -1, -1, -1, 1, 1}

m 4 sign possibilities: (e1,e2,e3)= {++-, +--, -++, -—+}

1= W= W/. {eps3 » -epsl};
W// Matri xForm
Ei genval ues [WM

Out[12]//MatrixForm=

0 0 epsl O 0 0

0 epsl O 0 0 0
epsl O 0 0 0 0

0 0 0 0 eps2 0

0 0 0 eps2 O 0

0 0 0 0 0 -epsl

ou13)= {-epsl, -epsl, epsl, epsl, -eps2, eps2}



in14:= (* Found using FindSPernutations. m %)

0 O 0 eps2 O 0
1 O 0 0 0 0
0 =4— o 0 0 -—
s.| V|,
0 O 0 0 1 0 '
0O O epsi O O 0
0 epsl 0 0 0 epsl
Nz Nz

= Note: S does not depend on eps3 since we always have eps3 = -epsl.
m Check that Sis in the set mathcal(S)

in[15]:= Transpose[S]. B. S ==

out15]= True

= Compute result

6= res =Sinplify[S. V.Inverse[S]];
res // MatrixForm

Out[17]//MatrixForm=

lan2 O 0 eps2 0 0
0 lant = 0 0 !
\/7 \Eepsl
lanl+l anB 1 | aml-| anB
0 0 2 0 A2 epsi 2epsl
0 0 0 | an2 0 0
0 0 0 0 | aml 0
1 1 laml+| anB
0 0 Eepsl (laml -1 anB) 0 f —
in[181= Petrov[res]
Out[18]//MatrixForm=
eps2 0 0 0 0 lank
1 1
0 0 — lanl O
V2 epsi N
1 lanml-1 anB I aml+l anB 0 0
\/?epsl 2 epsl 2
1 lanml+lan8 1
0 — ————— =epsl (lam - | anB) 0 0
NS 2 2
0 | aml 0 0 0 0
| an? 0 0 0 0 0

= Export notebook as .pdf

in[19:= Not ebookPri nt [Sel ect edNot ebook [],
" /www/user /f dahl /paper s/Conj ugati on/not ebooks/Cl assXXI . pdf " ]
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